
 195A Series 
AC Power Tilt Kontrol-Karriers 

morsedrum.com   Serial Number 414504 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 22 April 2025 Page 1 

 

ITEM QTY. PART NUMBER DESCRIPTION 
1 1 6374-P OVERHEAD WELD, GR, XGR, 195 
2 1 5991-P SADDLE ASM, GR, 195 STRAP 
3 1 2854-P IDLER ARM W/ BRGS, 195 
4 1   CONTROL BOX – SEE BELOW 
5 4 1714-P HHCS, 1/4-20 X 3/4 GR2 
6 4 1518-P NUT, 1/4-20 NYLON LOCK 
7 1 4198-P MOUNT WELD, CONTROL BOX, 195 
8 1   MOTOR – SEE BELOW 
9 2 193-P SCREW, TEK, 12-14 X 3/4 3 PT 
10 1 1473-P NUT, 5/8-11 REV HEX LOCK 
11 1 565-P HHCS, 5/8-11 X 4-1/2 GR5 
12 1 570-P COLLAR, 1-1/2" ID 
13 2 5184-P SPACER, GR SADDLE, PIPE 
14 1 525-P KEY, WOODRUFF, F, ASA1211 3/8" 
15 1 5940J-P TORQUE PLATE, 195 
16 2 1166-P WASHER, 3/8 USS 1" OD, ZINC 
17 6 4761-P WASHER, 7/16 SPLIT LOCK ZINC 

https://morsedrum.com/


 195A Series 
AC Power Tilt Kontrol-Karriers 

morsedrum.com   Serial Number 414504 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 22 April 2025 Page 2 

18 2 1502-P HHCS, 7/16-14 X 1-1/4 GR5 
19 1 4067-P SPEED REDUCER, 195, HELICAL 
20 1 3652-P PLUG, SPEED REDUCER, GR SERIES 
21 2 2789-P FIT, CONDUIT, 90DEG POLY 
22 1 3653-P CONDUIT, POLY FLEX, 1/2", 6" 
23 4 535-P HHCS, 3/8-16 X 1-1/4 GR 5 ZINC 

 

CONTROL BOX 
ITEM QTY. MODEL PART NUMBER DESCRIPTION 

4 1 

195A-1-115 2799-P CONTROL BOX, 195, 1PH/115V 
195A-3-230 2860-P CONTROL BOX, 195, 3PH/230V 
195A-3-460 2859-P CONTROL BOX, 195, 3PH/460V 

195A-1-220-50 4787-P CONTROL BOX, 195 1PH/220V/50HZ 
 

MOTOR 
ITEM QTY. MODEL PART NUMBER DESCRIPTION 

8 1 

195A-1-115 4203-1-P MOTOR, 1/3HP, 1PH, 56C, TEFC 
195A-3-230 4203-3-P MOTOR, 1/3HP, 3PH, 56C, TEFC 
195A-3-460 4203-3-P MOTOR, 1/3HP, 3PH, 56C, TEFC 

195A-1-220-50 4203-1-50-P MOTOR, 1/3HP, 1PH, 56C, 50HZ 
 

 

https://morsedrum.com/

